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B = B4
BEE HE & K B | o2 R | makony | SRS i
(A (B) o O ©)—D) | B/A) | (€)W
X iR 491 [23] 24 491 491 491 0 100.0% 100.0%
& F 6,142 | 23] 24 6,142 6,142 6,142 0| 100.0% 100.0%
L] 3415 | [24|25|26 3415 3415 3415 0| 100.0% 100.0%
ZFIW 588 | o4 588 588 588 0| 100.0% 100.0%
S 11,539 | |24]25]26 11,539 11,539 11,539 0| 100.0% 100.0%
B 2,793 | |24 2,793 2,793 2,793 0| 100.0% 100.0%
w 5211 | |24]|25|26 5211 5,211 5211 0| 100.0% 100.0%
FEES 3,207 | [24|25|26 3,207 3,207 3,207 0| 100.0% 100.0%
S 10,912 | |24] 25|26 10,912 10,912 10,912 0| 100.0% 100.0%
¥ o= 4,003 25|26 4,093 4,093 4,003 0| 100.0% 100.0%
i 5 9,868 25 26 9,868 9,868 9,868 0| 100.0% 100.0%
E B 4,923 25|26 4,923 4,923 4,923 0| 100.0% 100.0%
R IR 7,501 27 7,591 7,591 7,591 0| 100.0% 100.0%
E = 8,555 27 8,555 8,555 8,555 0| 100.0% 100.0%
HHE 3,516 27 3,516 3516 3,516 0| 100.0% 100.0%
e 7,728 27 7,728 7,728 7,728 0| 100.0% 100.0%
& 2,068 27 2,068 2,068 2,068 0| 100.0% 100.0%
+ BB RET 90 27 90 90 90 0| 100.0% 100.0%
& § 92,730 92,730 92,730 92,730 0| 100.0% 100.0%
WiE PR (EREBR) B :Km
R R T il I sl N P =
x K TEE [23]24 62.2 0.0 62.2 0.0 62.2 0.0 100.0%
FIES HEE 25/26| 27 82.2 0.0 82.2 0.0 82.2 0.0 100.0%
CES hEE 25|26 27/ 28 162.9 0.0 162.9 0.0 162.9 0.0 100.0%
ZFI hE% 25| 26| 27 66.2 0.0 66.2 0.0 66.2 0.0 100.0%
% hEE 25|26 27/ 28 119.5 0.0 119.5 0.0 1195 0.0 100.0%
B hE% 25|26 27/ 28 338.8 0.0 338.8 0.0 338.8 0.0 100.0%
= B hEE 26|27 176.5 0.0 176.5 0.0 1765 0.0 100.0%
& hE% 26| |28 119.0 0.0 119.0 0.0 119.0 0.0 100.0%
B 5 hEE 26|27 191.9 0.0 191.9 0.0 191.9 0.0 100.0%
LK hE% 26| |28 2747 8.6 197.0 76.9 1726 | 244 71.7%
FIES hEE 26|27/ 28 201.2 0.0 201.2 0.0 201.2 0.0 100.0%
it & hE% 28 204.0 0.0 160.5 35.1 151.7 2.8 78.7%
HHE hEE 28 96.6 0.0 65.9 384 60.5 5.4 68.2%
e mE%E 28 307.8 0.0 2173 110.2 2016 | 157 70.6%
7 hEE 28 181.0 0.0 181.0 168.9 1428 | 382 100.0%
TRRRET | hES 28 19.8 0.0 19.8 124 18.6 1.2 100.0%
B E TEE 28 85.1 0.0 65.5 20.1 408 | 247 77.0%
B = E% 28 378.1 0.0 265.5 251.7 13| 264.2 70.2%
& & 3,067.5 8.6 2,692.9 713.7 2,316.3 | 376.6 87.8%
X1RE, ZESHER. REFOEREEATLS,
M2EZAUVTREISTETOERDEATNS,
(B%)
B BROERSAEEREYRE - NEFIEEE) B4 :Km
NRTER ; LARTER | MAXTESR | XAAM | EBE
B =% FE ) s ®) © ®-© | ®/A
[ hES 28|29 132.8 0.0 116.7 116.7 0.0 87.9%
T hE% 29 76.7 0.0 172 7.8 9.4 22.4%
EHE hE% 29 33.0 0.0 0.0 0.0 0.0 0.0%
TBBRE | hEE 29 11.3 0.0 11.3 10.0 1.3 100.0%
¥ E hE% 29 8.1 0.0 0.0 0.0 0.0 0.0%
it & hE% 29 35.1 -127 0.4 0.0 0.4 1.1%
S hE% 29 110.2 -35.1 0.0 0.0 0.0 0.0%
E E TEE 29| 30 141.3 147.3 0.0 0.0 0.0 0.0%
& &t 554.5 99.5 145.6 134.5 11.1 26.3%
XETROZITFE(FEBX)DERHLEA TS,




B HEFE) Bfi:ha
TER S ER LARTEM | MARTEM | XA | #¥E
X4 X & =
o) »Hei A ®) © B)—(C) B)/(A)
A K 24] 25 26] 27 28 109.8 0.0 109.8 104.8 5.0 100.0%
® F 24|25|26|27|28 291.7 0.0 291.7 291.7 0.0 100.0%
IFW 26| |28 100.6 0.0 100.6 100.6 0.0 100.0%
L 26|27/ 28 281.6 -4.9 281.6 278.2 34 100.0%
3 3 26|27/ 28 78.3 0.0 78.3 783 0.0 100.0%
R 5 262728 167.6 0.0 167.6 167.6 0.0 100.0%
OB 26|27/ 28 69.2 0.0 69.2 69.2 0.0 100.0%
HmoR 27/ 28 88.8 0.0 88.8 88.8 0.0 100.0%
& K 27 25 0.0 2.5 25 0.0 100.0%
R 28 88.7 0.0 88.7 88.7 0.0 100.0%
F = 28 77.8 0.0 778 778 0.0 100.0%
= X 28 84.6 0.0 84.6 84.6 0.0 100.0%
& 28 242 0.0 242 242 0.0 100.0%
¥ B 28 24.3 0.0 24.3 243 0.0 100.0%
E B 28 39.0 0.0 39.0 39.0 0.0 100.0%
& B 1,528.7 -4.9 1,528.7 1,520.3 8.4 100.0%
E_iﬂl, Biff:ha
REER | grgm | GARTER | MAXTER I A 1 HEHE
E % g E T
" SR ] B © (8)—(C) (B)./(A)
e BiEkRE [20]2 2030.0 0.0 2030.0 2030.0 0 100.0%
B ®ik%x-EL 24|25/ 26| 27|28 327.8 -2.0 291.7 274.2 17.5 89.0%
Y Eih 24| 25|26 |27 130.5 0.0 130.5 130.5 0 100.0%
X H 24 2361.0 0.0 2361.0 2361.0 0 100.0%
1 24 888.0 0.0 888.0 888.0 0 100.0%
BEANYRAY 28 10 0.0 0.6 0.5 0.1 60.0%
HEERAKE BT : Km
REILE | pupe | UARTESR |WMARTER| XAH EWE
B % g B =
o) A ®) © ®—(©) (B)./(A)
B RKEE 25) 26| 27] 28] | 391.4 0.0 200.6 142.9 57.7 51.3%
2 AHERKRE (FR29%F12A18%R#E)
g4
B 4 WS | FEEH | sreym | HAKRRRT | TAKRERET I Al A i HEHE
(A) (B) i A i (C) (D) (C)—(D) (C)./(A)
EFH-$BLL 44— 42 42 0 42 42 100.0%
v iR 95 95 0 95 95 100.0%
REFT
(RS -EAHEE) 73 73 0 73 73 100.0%
BBRERESFT.
gy 60 60 0 60 60 100.0%
2B REBEVEH 626 626 0 626 625 100.0%
TEEENREEE 29 29 0 29 29 100.0%
HEEENEST 27 27 0 27 27 100.0%
ERETEIE. BEREEES 25 25 0 25 25 100.0%
HER. ERiE 42 42 0 42 42 100.0%
ZDfhD 2 R 167 167 0 167 167 100.0%
& at 1,186 | 1,186 0 1,186 1,185 100.0%
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3| x4 BRERR B Ny
1 | KK BRI T FR23EH A 26,000 |
2 (HEHE ERTE =T 254108 BRA 16000 | B
3 |&n ERIE ET FR25%118 BB A 94500 | R
4 M ERTE =T FR26%F11H AR 42,000 | T
5 |RE-AFIL  (ERIE ET 264118 WA 22000 R
6 |EBE1 ERIE T FH25%128 AR 31,000
7 |PREET REET FRi25%128 FR274 3A 17,000
8 |3k ERIE =T FR274108 BBA 147000 R
9 |PRE REXT FHi26% 8A FR274 3R 20| B
10 (K1 ERIE EfEP FHR26%118 BB A 24200 R
11 |3ZFIL ERITE =T F274 6A BRA 30000 R
12 (hREH2 ERI®E =T FHRi26%118 A 16000 R
13 (BRIREEN RERT FTHi26%11H T29%4 8H 2800 B
14 |#AKE2 ERIE =T Efi28% 5R AR 16,000 | R-1%
15 |fEBE2 ERTIE =T TR29% 1A HRA 37000 R
16 |fEEEES3 ERIE EfEh FH29% 5A BB A 17000 B
17 |BRIRE2 ERTE El+ FR29%F 7R AR 83000 R
18 |dLEH1 REET FHi28% 8A FR29% 7R 1,200 B
19 |EEBEE2 ERIE SEEH THI0F1ATE - 16000 | B
20 |fLfE%E2 ERIE =T F29% 8A BBA 13000 | R
21 |5#H ERIE =T 294 7H A 3200
22 |EXE1 ERIE =T FR29%F 8A BBA 9200 R
23 |EX%2 ERIE =R+ THi29%11A WA 8500 R
24 |LERRET  |[ERIE RET F294 8A BRA 30|
25 |EE1 ERI®E =T Eri29% 8R AR 6500 | &
26 (EE2 ERTE ET TR294% 9A AT 7000 | &
27 |dLf=5%3 ERIE ET FR29% 8A A 4300 R
28 |ILfEE4 ERITE =T FTR29% 8A HRA P 6300 R
29 |fEXE3 ERIE RiEh FH294%108 A 8400 | R
30 |fEX%E4 ERTE =S FR294108 HBA 7800 R
31 (fEX%¥5 EREIE RS 294108 A 7800 R
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